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For this paper you MUST ensure you
have:
e An Interpretations Booklet (enclosed).

INSTRUCTIONS

e Use black ink or black ball-point pen.
e Answer ALL SIX gquestions.

e Do all rough work in this book. Cross
through any work you do not want to be
marked.

e You must answer the questions In the
spaces provided. Do NOT write on
blank pages.

e If you need extra space for your
answer(s), use the lined pages at the
end of this book. Write the question
number against your answer(s).
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INFORMATION

e The maximum mark for this paper is 40.

e The marks for questions are shown in
brackets.

DO NOT TURN OVER UNTIL TOLD TO
DO SO
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Answer ALL SIX questions.

Read INTERPRETATIONS A and B in the
Interpretations Booklet.

01

How does INTERPRETATION B differ
from INTERPRETATION A about
Rasputin?

Explain your answer based on what it
says in INTERPRETATIONS A and B.
[4 marks]
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Why might the authors of
INTERPRETATIONS A and B have a
different interpretation about Rasputin?

Explain your answer using
INTERPRETATIONS A and B and your
contextual knowledge. [4 marks]

[Turn over]

07



0 8



[Turn over]

09




10

03

Which interpretation gives the more
convincing opinion about Rasputin?

Explain your answer based on your
contextual knowledge and what it says in
INTERPRETATIONS A and B. [8 marks]
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04

Describe two problems faced by the
people of the USSR during the Terror.
[4 marks]
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0[5

In what ways were the lives of people in
the USSR affected by the Second World
War?

Explain your answer. [8 marks]
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06

Which of the following saw more change
as a result of Lenin’s policies:

e the way Russia was ruled and
controlled

e the economy of Russia?

Explain your answer with reference to
BOTH bullet points. [12 marks]
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END OF QUESTIONS
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Additional page, if required.
Write the question numbers in the
left-hand margin.
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Additional page, if required.
Write the question numbers in the
left-hand margin.
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Additional page, if required.
Write the question numbers in the
left-hand margin.
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